DIVE STANDS
ONE METER AND THREE METER
LADDER AT REAR

Installation Instructions

7100 Spectrum Lane
Mizsoula, Momntana

406.542 84781

- Products® Fax: 4065421158



INSTALLATION INSTRUCTIONS
FOR
ONE METER AND THREE METER DIVE STANDS
LADDER AT REAR

Spectrum Stainless Steel Adjustable Fulcrum

Read completely before starting

The dive stand will ship with several major components.
These components are listed below and shown on the following drawing:

1) Rear hinge-sub assembly (1)

2) Ladder tread supports (2) (These may be part of the hand rail assembly)

3) Diving Board (This may not have been shipped with the dive stand) (1)

4) Handrail assembly (2)

5) Support Pedestal Assembly (1)

6) Geared adjustable fulcrum assembly (1)

7) Cage anchor and rear ladder anchor assembly (1)  (unless previously ordered)
8) Ladder handrails — 3 Meter Dive Stand Only

Installation:

1) Set the cage anchor and rear ladder anchors in concrete at the location shown on
the attached drawing. The concrete surrounding the anchor should match the
dimensions on the drawing. It is very important that the anchors are level
with the finished deck and square with the pool edge.

2) After the cage anchor and rail anchors are set and the concrete has time to cure the
Support pedestal assembly can be set and bolted into position.

3) Insert the ladder tread supports into the handrail assembly and install the bolts.
(Make sure the bolts are tight. Check daily for tightness and wear).

The cage anchor and the ladder rail anchors should be grounded to the existing
bonding grid when installed.
All hardware should be checked daily for tightness. Replace any worn or damaged
hardware or parts immediately. Do not use the dive stand with missing, broken, or
worn-out parts.



4) Insert the ladder support rails into their anchors and set the handrail assembly into
position on top of the support pedestal. Make certain that the ladder support rails
are secure in the anchors. The wedge needs to be tightened and the bolt needs to
be installed through the anchor collar and the ladder rail. Some drilling may be
required to get the bolt to fit through the rail. The bolts through the ladder rail
must be installed and the collar must be bolted to the anchor in the concrete.
Check these anchors daily for tightness.

5) SEE ADDENUM A FOR ADJUSTABLE FULCRUM INSTALLATION
PERFORM STEPS 1 TO 5.

6) Install the step threads on the dive stand ladder tread supports.

7) The rear hinge assembly comes mostly assembled. Unpack the assembly and
remove the captivation plates from the end of the hinge pin. Refer to the attached
drawing to determine the orientation of the rear hinge. (This is important
because it can affect the over hang of the diving board). Slide the hinge pin
into position. This should be done from between the side rails so that the actual
hinges do not need to be removed. Install the captivation plates from outside the
side rails. Securely fasten the four nuts on each side. (Check regularly for
tightness).

8) Mount the diving board to the dive stand. Follow any recommendations the
manufacture of the board may have and use the manufactures mounting hardware.
Attach the rear of the board to the rear hinge assembly. (Make sure to use the
load distribution plate that comes with the rear hinge assembly). The shackle
and poly block orientation are shown on an attached drawing. (Secure all
hardware and check daily for tightness).

9) SEE ADDENUM A FOR ADJUSTABLE FULCRUM INSTALLATION
PERFORM STEPS 6 TO 8.

The cage anchor and the ladder rail anchors should be grounded to the existing bonding grid when
installed.
All hardware should be checked daily for tightness. Replace any worn or damaged
hardware or parts immediately. Do not use the dive stand with missing, broken, or worn-out parts.



Note To Installer

This dive stand was manufactured in Accordance with the ANSI/NSPI-1 1991 standard.
Some of the articles are listed below. It is important that this Dive Stand is installed in
compliance with these articles and installed on the correct type of pool. If any of the
criteria can’t be met during installation contact the manufacture immediately.

4.5

451

45.2

453

5.6.1

5.7

5.7.1

5.75

5.7.6

5.7.7

Diving: Diving intended for class B and C pools shall conform to the minimum
water depths, area, slopes, and other dimensions shown in Article 4.6.1. If a wall
exists, then it shall conform with the 3:1 slope in the Point D dimension and the
L1-2-3-4 dimensions.

When diving equipment is installed, it shall conform to the specifications set forth
in Article 5.7 and shall be located in the diving area of the pool so as to provide
the minimum dimensions are shown in Article 4.6.1. Competitive diving
equipment shall not be installed on Class B and C pools.

The tip of the diving equipment shall be located at Point A, which is the reference
point of all other dimensions.

There shall be a completely unobstructed clear vertical distance of thirteen feet
(13”) above any diving board measured from the center of the front end of the
board. This area shall extend horizontally at least eight feet (8) behind, eight feet
(8”) to each side and sixteen feet (16’) ahead of Point A.

Platforms and diving equipment of one (1) meter or higher shall be protected with
guard rails which shall be at least thirty inches (30”) above the diving board and
extend to the edge of the pool wall. All platforms or diving equipment higher
than one (1) meter shall have guard rails which are at least thirty-six inches (36”)
above the diving board and extend to the edge of the pool wall.

Diving Equipment: Diving equipment shall be designed for swimming pool use
and shall be installed in accordance with the manufacture’s recommendations.

Diving equipment manufacture’s shall provide installation instructions and
specifications with each unit.

Diving equipment shall be permanently anchored to the pool deck. The edge of
the board at the tip end shall be level with the water surface. The tip end of the
board over the pool water surface may be higher that the butt end of the board.
Refer to manufacture’s recommendations.

Maximum board height over the water shall have plus three inches (+3”) tolerance
to allow for construction variances only on Class B and C pools.

The maximum construction tolerance of the tip of the board from Point A shall be
plus or minus three inches (+/- 3””) on Class B and C pools. The diving equipment
shall be in compliance with Article 4.5.2.



4.6 DRAWINGS AND DIAGRAMS

4.6.1 Minimum Dimensions for Diving Portion of Class B and C Pools.
(This drawing does not show the shallow portion of the pool.)

Typloat poson ol p of bowrd

retnte o PL A
23 PL 3 Water Lina nc FLO
" A 7
g
117
11" Max. sope ; i 51, 5! - sooe
|
o, Min B, Min. I '
1in 12 Mex slope Clasa 8
1in 10 Mz dlope Clasa C

L, Mln.'-1 L, Min _i L, Min. I L‘M.n.v-l

| L Min,

WOTE: L, 18 8 minfriom dimansion 1o afiow suffickent length sonosaite tha baard. This may of
cours: b langtened B fom s shallow potion of e pon

AELATED DVING BLIPEHT | Mrar
oot | K NG MBS ML DIMERSIONS |
%m"m mmﬁm b [ el el u | ufu | ma|em]me

3 []

W i 2671242 moter) P | e | g Vg | oo | 0w | ro fane | w0 | o | wr

Wi = A0 LW, wreae] g |y t Ll ISl Bl - '23‘-0'| 180T | e | 2o

i 18 I ey w0 | re | e | | 9o | 2o | ave | ave | e | 2z
t !

n-c w 5 tater e | vz | o | wor | o 2mer | o are | e | vear zm-!

Lg, g L comDire sapresend T8 man imum detines Som the b of bosrd 1o pood wall 3000aie drng oouamont.
P Inoaiate] Prasiiies eoirdsdiinnd 3 felera s Artice 4. 5.2,

“MOTE: Pacement of Dodrds shES cosanm B tikowang minirm dimeesors, Wil ard oo board Insalations minfmum oo wiohs o Be increusnd
ammlinghy:

Do Lo Biaiird o Pool Sioe &
| W B fe Podl Sidi 1w
3 bt Board 1o Pool Skie "
1 bt Gf Chacl Lavnd Boird 0 1) bl Board I
| Wi o Duc Lavnd Boarn 1o anomr 1 Merder or Dt Lival Bosd g
3 ivernr 0 mroEnar 3 hsow Biosrd 1

5.7.3 Diving equipment suitable for installation on a lower pool type may be installed
on any higher pool type providing no less a water envelope is provided from the
tip of the board than called for in the lower type. Diving equipment of a greater
type, e.g., Type VIII, shall not be installed on a pool of lesser type, e.g., Type VII.
Should diving equipment be installed at any greater height than specified for the
lower type pool, water surface area and geometry shall be provided for the type
pool which permits board installation at that height.

5.7.4 Diving equipment shall have slip-resisting tread surfaces.



DIVE STAND ANCHOR
INSTALLATION INSTURCTIONS

1) DIG OUT THE REQUIRED AREA AROUND THE ANCHOR FOR THE
CONCRETE TO BE POURED. THIS INFORMATION IS ON THE CUSTOM
PRESENTATION DRAWING OR THE GERNAL ANCHOR PLACEMENT
GUIDE.

2) SET THE ANCHOR IN PLACE ACCORDING TO THE DRAWING
SHOWING THE PROPER ANCHOR SETBACK. ANCHOR SET BACK IS
MEASURED FROM THE FURTHEST DECK PROJECTION OVER THE
POOL. (THIS MAY BE THE POOL WALL.)

3) GROUND THE ANCHOR TO THE EXISTING BONDING GRID USING THE
BONDING LUG PROVIDED WITH THE DIVE STAND ANCHOR.

4) MAKE SURE THE DIVE STAND ANCHOR IS SQUARE TO THE POOL.

5) SET THE LADDER RAIL ANCHOR ACCORDING TO THE DIMENSION
PROVIDED ON THE CUSTOM PRESENTATION DRAWING. (MAKE SURE
THESE ARE IN LINE WITH THE DIVE STAND ANCHOR AND ALSO
SQUARE TO THE POOL..)

6) POUR THE CONCRETE. MAKE SURE THE ANCHORS ARE FLUSH WITH
THE DECK.

7) LET THE CONCRETE SET FOR AT LEAST 48 HOURS AND THEN
ASSEMBLE THE DIVE STAND.

IF THE ANCHOR SETBACK DISTANCE IS DIFFERENT FROM THE GENERAL ANCHOR
SETBACK GUIDE THIS INFORMATION MUST BE RELAYED TO THE MANUFACTURE
PRIOR TO THE DIVE STAND BEING MANUFACURED.



ADDENUM A

ADJUSTABLE FULCRUM INSTALLATION INSTRUCTIONS

NOTE: THESE INSTRUCTIONS SUPERCEDE STEPS 5 & 9 OF THE ONE METER
AND THREE METER DIVE STAND INSTALLATION INSTRUCTIONS.

The Adjustable Fulcrum Assembly comes unassembled. Unwrap the various parts and
compare with the following list:

__ (1) Dive Pedestal

___(2) Fulcrum side plates, “With Stops, and Fulcrum Spacer Installed”
__ (2) Gearracks

__ (1) Fulcrum

__ (1) Adjusting wheel

___ (2) 577130-03 — Fulcrum Adjust Warning Tab

_ (1) 13052 - V4" roll pin

___(8) 20043 - 3/8”’x 3” button head bolt w/machined head
_ (2) 20022 - 3/8”’x 1” hex head bolt

__(12) 20012 - 3/8” flat washer

___(10) 20017 - 3/8” lock washer

___(10) 20018 - 3/8” acorn nut

INSTALLATION STEPS

1)

2)

INSTALL SIDE PLATE* [ Refer to figure 1, labels 1A & 1B]

Position one of the Side Plate Assembly’s over the Horizontal Rail (part of
Handrail Assembly) and align with the four mounting holes in the tube and the
two mounting holes of the Pedestal Plate. Using one (1) 3/8” x 1”” Hex Bolts, one
(1) 3/8” Lock Washers and one (1) 3/8” Acorn Nuts, fasten the two L-brackets to
the Pedestal Plate. Tighten the bolts (Make sure the bolts are tight. Check
regularly for tightness).

INSTALL GEAR RACK™ [Refer to figure 1, labels 1A &1B]

Fasten the Side Plate Assembly and the Gear Rack to the Fulcrum Plate (through
the horizontal rail) by first placing the Gear Rack on the lower in surface of the
Slide Plate and aligning the four holes. Place 3/8” x 3” Button Head Cap Screw
in each of the holes in the Gear Rack and drop them through the Side Plate, the
Horizontal Rail and the Fulcrum Plate. Secure them with four (4) 3/8” Lock
Washers and four (4) 3/8” Acorn Nuts. Tighten the bolts (Make sure the bolts
are tight. Check regularly for tightness).

* See Table 1 for list of step figures with parts list for each step.



CONCRETE REQGUIREMENT
FOR DIVE STANDS

OME METER AND 3 METER STAND ILADDER AT REARI

b0 Al (6 A DS | |

FRONT BHD BEAR AMOCYDR SCTRARE T MOTES 1IRS
PETIDED [R[KG THE SUBMITTAL IRAWIRG FRIGESE

CORCRETE B O BE #4° -0° MWILE

USLHG THIE [HFORMATEICH IR CCRUAETIONM WITH

N1%E STRHIG

JIWE STAND BRECIFICATIO
SEET WILL GIVE & GERESAL [[EA OF ThL COHCROTE PaD RLC

SPLTIVICaries AC viminm &MY HET [ARSH

SPECTRUM iz

132527 'II'HI
Faz: 435 2421158

Fubt (ALl 14f oF BEEEE)

DIYE STAHD aHOHOR
COMCRETE REFILIRESENTE

im|

-.
12/ 573y

e

EEDIRG




|/-’ | DIVE STAND SERIES _‘\'.

MODEL - REAR HINGE

Pl

E
N

HALKE OF poARR

FRIONT OF BRARD

=

A A

|

— 21
A |__ A 5 SMTH COMMERCIAL 140" ARD 10T BOWRDS
REAR HMCE ASSEMBLY HOLE SI2E 97 b0
= o £ MEIT D pACRMInES BILES WK REAR FIBESE
? ASEMELY. 55 SRATH SUPFLIES 1421365 1/2° BOLTS
i |
ﬁ EURANRIA BOAEDS: | 408 ARD 16
Al CARAFLE: 15%[F
FelaXIFLEY BOLARTS

SEND Bt BOATS ANG RATS IATH BEAR HIVGE
SECTION A-A v

ﬂ [mesraiors wory with seacifio appbcalions.
"hhobe: Speas Rootions Ore Romingl and oss iRt 10 G R
Piease canloot Spechum Products o cishom opeioaion

00 A trus | e EMGINEERIMNG DATA

e 5l Semouio, Moniorg SER0E .
e A B4 YR ¢ E00 0] A0Es

Feoc k542 1 158 ra. HIA

Rt S A TR T R T
— B TEFAAL




3)

4)

5)

6)

7)

INSTALL SIDE PLATE * (OPPOSITE) [Figure 2, 3A & 3B]
Repeat Step 1 for the opposite side.

INSTALL GEAR RACK * (OPPOSITE) [Figure 2, 4A to 4D]
Repeat Step 2 for the opposite side.

INSTALL ROLLER ASSEMBLY * [Figure 2, 5A]

Position the Roller & Pinion Gear Assembly diagonally between the two Slide
Plate Assemblies at the middle of the assembly. Rotate the Roller & Pinion Gear
Assembly until it is perpendicular to the Side Plate Assemblies, and the Pinion
Gears line up with the teeth of the Gear Racks.

INSTALL ADJUSTEMENT WHEEL * [Figure 2, 6A]

Slide the Adjustment Wheel of the mating shaft of the Roller and Pinion Gear
Assembly, and spin the wheel until the hole in the shaft lines up with the hole in
the Adjustment Wheel. Insert the Roll Pin into the hole, and gently tap into
position using a hammer (the Roll Pin is fully installed when it is flush with the
outside surface of the Adjustment Wheel shaft).

INSTALL SPACERS * [Figure 3, 7A to 7D]

For each side, slide a Fulcrum Spacer into the gap between the pinion gear of the
Roller & Pinion Gear Assembly and the top inside surface of Side Plate
Assembly, and align with the two mounting holes. Fasten the Fulcrum Spacer to
the Side Plate Assembly using two (2) 5/16x 1 '42” Hex Bolts, four (4) 3/8” Flat
Washers, and two (2) 3/8” Nylock Nuts. Tighten the bolts (Make sure the bolts
are tight. Check regularly for tightness).

* See Table 1 for list of step figures with parts list for each step.



| 3718V1

D09 K3 L LY L9LSE n.z. _
AT SOIE ATIEMITE
. avid dous3aisine W | S40LS TIVIENI | ag-ve vE
INN HIGAN B/E (%) _
H:.._..__J 1y ﬁmﬁ
38 X3H . L LK
S35y WM DTN4 (B SHITVAS TIVLSH] | Qi-vi E
FRIT| ____:_u _
139HM awasaras (o 133HM TOY TIVISHI v 4
_ C O L1IWETSY §FID NOINISHATIONE (1) | 4SSy ¥ITIOH TIVISNI CE 4
INH HEODY 8T .
HIHSY M AT B8
MIEDE J¥D OVIH NOLLNE £ % 8/F _ ar-vir .
HIWH WIS WIVH HYED TIVIENI | az-viL £l
LN HE0DY S8 _
orirr i —
- I
ASEW 31V E:...m 304 3AS TSN | 2l vl _ 'l
15N S18wd | NOALd 530 _E_!_.._._: 4315 _ # JNS

203 9L 91w LT MO TR LE R 3 AT S S5005T DM I0M O 5384 O3 dEH O SHOILYVM NS B THL ROTICH
HCILUINALERE HL M DRMOTICY 58 N0L 1S FHLFO SOMIMTEE 3N0H 2YS0T GL E 191 250

Sd115 ROWVITWISHI A TEWTSS Y SRICRO SR B0 D ONY STHMTH 40 15N 7L THEVL



FIGURE 1

;

e s

: i3
o) ¥
ED{ i

/

I| |

|
'.:.I—I

|

¥y,

\

\

I
f'f ,// .

o

Steps 1 & 2



B, ususslpy

.r.nEl-.-.l..._......
DD U 3 HSY

O
L ) xxi
BID|Y S W —

9 o} ¢ sdajg



Steps 7% 8

FIGURE 3



o\

USRI U S S,
-,

i : P A——

T : __- J
C T )

N

AW
R £l

7~
-

-

(g days) Buiopds sdojs winidjnyg






